293t o] PQ 9 BC 7 B ), QC




th5 17ellA DE / BC & ®f, x ©] gt& totolet.

x:15=14:30.. x=7




3. U3 379 AABC olA /BAD = /DAC & W, x 9] & F-51oi 2t

AB:AC=BD:CD9|ER x:18 =2:3 o]t} mabA x = 12
ojr}.




4. AABC oA <A 9] o] 52417 ¥ BC 9] 2= D = & o, AABD
o] Yol7} 24em? O, AADC 9] Yo]S tafozt,

iy

)]

=
[V

>
[> e 36cm?

B ‘

AB :AC = BD :DC o|B2&
BD:DC=8:12=2:3

w2tA AABD 2 AADC 9] Yol9] H]=2: 3 ot}
AADC O] Yol&E x&t51H 2:3=24: x0| B2

x = 36(cm?) T},

wkA] AADC 9] Y ol+= 36 cm? | T,




th ZHOIAAD 7} A ©] €124€] o] 524 w], AB & F-5toizh

AB=x cm& 3l x:4=(2+8):8°]E=2
xX=5




